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Ten persons viz. M, N, O, P, Q, R, S, T, U,
and V are living in two different flats viz.
Flat 1 and Flat 2 of a five story building,
but not necessarily in the same order.
Flat 1 is to the west of flat 2. The
lowermost floor is numbered as 1 and
the floor immediately above is
numbered as 2 and so on.
U lives on an even-numbered floor and
two floors below S in the same flat. Only
one floor is there between S and R who
lives immediately above T in same flat.
Both M and Q lives on the topmost floor
where Q lives to the east of M. One floor
is between Q and N where both lives in
different flats. The number of the floor
below N is one more than the number of
floors above P. O lives below V but not
on the same flat.

दसव्यक्तिअर्थात। एम, एन, ओ, पी, कू्य, आर, एस, टी, 
यू, औरवी दो अलग-अलग फै्लटो ोंमें रह रहे हैं अर्थात।

पथोंच मोंजिलथ इमथरत कथ फै्लट 1 औरफै्लट 2, लेजकन
िरूरी नही ों जक इसी क्रम में हो। फै्लट 1 फै्लट 2 के
पजिम में है। सबसे जनचली मोंजिलकी सोंख्यथ 1 है और
ठीकऊपर वथली मोंजिलकी सोंख्यथ 2 है और इसी तरह
आगेभी।

U एकसमसोंख्यथ वथली मोंजिल पर रहतथ हैऔर S के
नीचे दो मोंजिलसमथन फै्लट में रहतथ है। S और R के
मध्य केवल एकमोंजिल है िो समथन फै्लट में T के ठीक
ऊपर रहतथ है।M और Q दोनो ोंसबसे ऊपरी मोंजिल पर
रहते हैं िहथों Q, M के पूवा में रहतथ है। एकमोंजिल Q 
और N के बीच है िहथों दोनो ोंअलग-अलग फै्लटो ोंमें रहते

हैं। N के नीचे तलकी सोंख्यथ P के ऊपर तलो ोंकी सोंख्यथ

से एकअजिक है। O, V के नीचे रहतथ है लेजकन समथन
फै्लट पर नही ोंरहतथ है।
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Ten persons viz. M, N, O, P, Q, R, S, T, U,
and V are living in two different flats viz.
Flat 1 and Flat 2 of a five story building,
but not necessarily in the same order.
Flat 1 is to the west of flat 2. The
lowermost floor is numbered as 1 and
the floor immediately above is
numbered as 2 and so on.
U lives on an even-numbered floor and
two floors below S in the same flat. Only
one floor is there between S and R who
lives immediately above T in same flat.
Both M and Q lives on the topmost floor
where Q lives to the east of M. One floor
is between Q and N where both lives in
different flats. The number of the floor
below N is one more than the number of
floors above P. O lives below V but not
on the same flat.
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Who among the following person lives on the same 

floor with N?

A.P
B.O
C.V
D.Q
E.None of these

In which of the following floor and flat does P lives?

A.Floor 3, flat 1
B.Floor 2, flat 2
C.Floor 3, flat 2
D.Floor 4, flat 2
E.None of these

Four of the following five are alike in a certain way and hence form

a group. Find the one that doesn’t belong to that group.

A.S
B.Q
C.U
D.T
E.R
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If Q is related to S and U is related to T in a certain 

way, then who among the following is related to O?

A.The one who lives east of U
B.M
C.P
D.The one who lives west of V
E.None of these

How many floors are there above V?

A.As many floors are there below R
B.Two
C.As many floors are there between Q and T
D.More than three
E.None

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Point S is 8km north of point M. Point G is 7km north of point K. Point O is north of point R 
and east of point S. Point K is 9km west of point R. Point G is 6km east of point M. Point T 
is 3km north of point V. Point V is north of Point G and West of point O. जबोंदु S, जबोंदुM के 8 जकमी

उत्तर में है। जबोंदु G, जबोंदु K के 7 जकमी उत्तर में है। जबोंदु O, जबोंदु R के उत्तर में और जबोंदु S के पूवा में है। जबोंदु K, जबोंदु R के 9 

जकमी पजिम में है। जबोंदु G, जबोंदुM के पूवा में 6 जकमी है। T, जबोंदु V के 3 जकमी उत्तर में है। जबोंदु V, जबोंदु G के उत्तर में और जबोंदु

O के पजिम में है।

What is the shortest distance between point S and point G?

A.12km
B.10km
C.9km
D.8km
E.None of the above

What is the shortest distance between point S and 

point G?

A.12km
B.10km
C.9km
D.8km
E.None of the above
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S is the father-in-law of V who is the son of G. O is the only daughter of H who is the 
mother-in-law of Q. V has brother. T is the mother-in-law of B. H is the spouse of G. B is 
the father of N who is the daughter of Q. A is the mother of R who is the niece of O. S, V 
कथ ससुर है िो G कथ पुत्र है। O, H की इकलौती पुत्री है िो Q की सथस है। V कथ भथई है। T, B की सथस है। H, G कथ
िीवनसथर्ी है। B, N कथ जपतथ है, िो Q की पुत्री है। A, R की मथतथ है, िो O की भतीिी है।

How is R related to N?

A.Cousin
B.Brother
C.Sister
D.Son
E.Can’t be determined

Four of the following five are alike in a

certain way. Who among the following

one does not belong to the group?

A.SA
B.TQ
C.HO
D.OB
E.QN
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'very large risk associated' is written as ‘nu ta ro gl’, 
'risk is very low; is written as ‘gl se nu mi’, 
‘is that also associated’ is written as ‘ta mi po fu’ 
‘inherent risk also damaging’ is Written as ‘fu nu di yu’

19. Which of the following is the code of 'damaging’? 
A. di B. yu C. nu D. either di or yu E. None of these 

20. Which of the following may represent ‘risk is very large’? 
A. gl mi nu ro B. nu gl ta se C. nu ro se yu
D. ro gl di nu E. None of these

21. Which of the following is the code of ‘associated’? 
A. nu B. po C. ta D. fu E. gi
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22. What would be the code for ‘inherent large risk’? 
A. yu ro nu 
B. di ro nu 
C. yu fu ro
D. di ta se 
E. Either A or B

23. Which of the following may represent ‘low risk associated 
industry’? A. ta nu gi ro
B. ta hi nu se 
C. mi ta se fu 
D. di gi ta po 
E. po gi se di

'very large risk associated' is written as ‘nu ta ro gl’, 
'risk is very low; is written as ‘gl se nu mi’, 
‘is that also associated’ is written as ‘ta mi po fu’ 
‘inherent risk also damaging’ is Written as ‘fu nu di yu’
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A building has eight floors numbered one to eight, in such a manner that the ground floor is 
numbered one, the floor above it, numbered two and so on such that the topmost floor is 
numbered eight. One of the eight persons, viz, P, Q, R, S, T, U, V and W lives on each floor but 
not necessarily in the same order. R lives on third floor. Only two persons live between the 
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person 
lives between the floors of T and U. T lives above U. Only one person lives between the 
floors of R and S. S lives on any floor below the floor of T.

एक इमथरत में आठ मोंजिलो ोंकी सोंख्यथ एक सेआठ इस प्रकथर है जक भूतल की सोंख्यथ एक है, 
उसकेऊपर की मोंजिलकी सोंख्यथ दो हैऔर इसी तरह सबसे ऊपरी मोंजिलकी सोंख्यथआठ है।

आठव्यक्तियोों में से एक, अर्थात, P, Q, R, S, T, U, V औरW प्रते्यक मोंजिल पर रहतथ है लेजकन
आवश्यकनही ोंइसी क्रम में हो। R तीसरी मोंजिल पर रहतथ है। R और V के तलो ों के बीच केवल दो
व्यक्ति रहते हैं।W, Q के ठीकऊपर वथले तल पर रहतथ है। T और U के तलो ों के बीच केवल एक
व्यक्ति रहतथ है। T, U के ऊपर रहतथ है। R के तलो ों के बीच केवल एकव्यक्ति रहतथ है।और S. S, T 
के तल के नीचे जकसी मोंजिल पर रहतथ है।
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A building has eight floors numbered one to eight, in such a manner that the ground floor is 
numbered one, the floor above it, numbered two and so on such that the topmost floor is 
numbered eight. One of the eight persons, viz, P, Q, R, S, T, U, V and W lives on each floor but 
not necessarily in the same order. R lives on third floor. Only two persons live between the 
floors of R and V. W lives on the floor immediately above the floor of Q. Only one person 
lives between the floors of T and U. T lives above U. Only one person lives between the 
floors of R and S. S lives on any floor below the floor of T.
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24. Who among the following lives on the fifth numbered floor?
जनम्नजलक्तित में से कौन पथाँचवें क्रमथोंक वथले तल पर रहतथ है?

A. S B. Q C. W D. P E. V

25. Who among the following lives exactly between the floors of 
R and S? जनम्नजलक्तित में से कौन R और S के ठीक बीच में रहतथ है?

A. U B. P C. V D. T E. W

26. Who among the following lives on the topmost floor? 
जनम्नजलक्तित में से कौन सबसे ऊपरी मोंजिल पर रहतथ है?

A. T B. Q C. W D. R E. V
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27. Four of the following five are alike in a certain way and hence they 
form a group. Which one of the following does not belong to that group?
जनम्नजलक्तित पथोंच में से चथर एक जनजित तरीके से समथन हैं और इसजलए वे
एक समूह बनथते हैं। जनम्नजलक्तित में से कौन सथ उस समूह से सोंबोंजित नही ों है?

A. R B. V C. P D. S E. Q

28. How many persons live between the floors of Q and U?
Q और U के तलो ों के बीच जकतने व्यक्ति रहते हैं?

A. None B. One C. Two D. Three E. Four
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Meghna started from Point A, walked 7 m towards the West, took a left turn, walked 2 m and reached 
Point C. She, then, took a right turn and walked 4 m to reach Point D. She, then, took a right turn, 
walked 2 m before taking a final right turn and walked 3 m before stopping at Point B
मेघनथ जबोंदु A से चलनथ शुरू करती है, पजिम की ओर 7 मीटर चलती है, बथएों मुड़ती है, 2 मीटर चलती है

और जबोंदु C पर पहाँचती है। जिर, वह दथएाँ मुड़ती है और जबोंदु D तक पहाँचने के जलए 4 मीटर चलती है। जिर, 

वह दथएाँ मुड़ती है मुड़तथ है, अोंजतम दथयें मुड़ने से पहले 2 मीटर चलतथ है और जबोंदु B पर रुकने से पहले 3 

मीटर चलतथ है

34. How far and in which direction is Point A from Point B? 
A. 6 m towards West B. 8 m towards east C. 10 m towards East D. 10 m 
towards West E. Cannot be determined

35. If Meghna walks 2 m towards South from Point A and reaches Point E, 
which of the following points (including E) would fall in a straight line? 
A. A, B B. A, D C. B, C D. C, D E. None of these
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an 
equal distance between adjacent persons. In row 1 - V, W, X, Y and Z are seated (but not 
necessarily in the same order) and all of them are facing North. In row 2 - F, G, H, I and J are 
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the 
given seating arrangement, each member seated in a row faces another member of the other 
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one 
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any 
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an 
immediate neighbor of Z.

दसव्यक्तिदो समथनथोंतर पोंक्तियो ोंमें बैठे हैं, जिनमें प्रते्यक में पथोंचव्यक्तिहैं, इस प्रकथरआसन्नव्यक्तियोों

के बीच समथन दूरी है। पोंक्ति 1 में - V, W, X, Y और Z बैठे हैं (लेजकन िरूरी नही ों जक इसी क्रम में हो ों) और
उनसभी कथ मुि उत्तरकीओर है। पोंक्ति 2 में - F, G, H, I और J बैठे हैं (लेजकन िरूरी नही ों जक इसी क्रम
में हो ों) औरउनसभी कथ मुि दजिणकीओर है। इसजलए, दी गई बैठने कीव्यवस्र्थ में, एक पोंक्तिमें बैठे

प्रते्यकसदस्यकथ मुि दूसरी पोंक्ति के दूसरे सदस्यकीओर है। Y, W के बथयें से तीसरे स्र्थन पर बैठथ है।
वह िो Y कीओर उनु्मि है वह F के दथयें से दूसरे स्र्थन पर बैठथ है। F और I के बीच केवल एकव्यक्ति
बैठथ है। H और J एक दूसरे के जनकटतम पडोसी हैं। J पोंक्ति के जकसी भी अोंजतम छोर पर नही ों बैठथ है।

वहव्यक्तििो G कीओर उनु्मि है, Z के ठीक दथयें बैठथ है। X, Z कथ जनकटतम पडोसी नही ों है।
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Ten people are sitting in two parallel rows having five people each, in such a way that there is an 
equal distance between adjacent persons. In row 1 - V, W, X, Y and Z are seated (but not 
necessarily in the same order) and all of them are facing North. In row 2 - F, G, H, I and J are 
seated (but not necessarily in the same order) and all of them are facing south. Therefore, in the 
given seating arrangement, each member seated in a row faces another member of the other 
row. Y sits third to the left of W. The one who faces Y sits second to the right of F. Only one 
person sits between F and I. H and J are immediate neighbors of each other. J does not sit at any 
of the extreme ends of the line. The one who faces G sits to the immediate right of Z. X is not an 
immediate neighbor of Z.
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36. Who amongst the following faces H? 
जनम्नजलक्तित में से कौन H की ओर उनु्मि है?

A. Y B. V C. Z D. W E. X

37. Who amongst the following sits to the immediate left 
of the person who sits exactly in the Middle of the row 
with south facing people? जनम्नजलक्तित में से कौन उस
व्यक्ति के ठीक बथयें बैठथ है िो दजिण की ओर मुि करके
बैठे लोगो ों के सथर् पोंक्ति के ठीक मध्य में बैठथ है?

A. J B. H C. I D. G E. F

38. Who amongst the following sits third to the right of 
the person who faces X? जनम्नजलक्तित में से कौन X की ओर
उनु्मि व्यक्ति के दथयें से तीसरे स्र्थन पर बैठथ है?

A. G B. F C. J D. I E. H 
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39. Four of the following five are alike in a certain way 
based on the given seating arrangement and thus form a 
group. Which is the one that does not belong to that 
group? दी गई बैठने की व्यवस्र्थ के आिथर पर जनम्नजलक्तित

पथोंच में से चथर एक जनजित तरीके से समथन हैं और इस प्रकथर

एक समूह बनथते हैं। वह कौन सथ है िो उस समूह से सोंबोंजित
नही ों है?

A. H B. I C. W D. Y E. X 

40. Which of the following is true regarding V? 
V के सोंबोंि में जनम्नजलक्तित में से कौन सथ सत्य है?

A. None of the given options is true 
B. An immediate neighbor of V faces F 
C. X is an immediately neighbor of V 
D. W sits to immediate right of V 
E. V faces I
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Eight persons i.e. D, Q, G, H, K, S, E and W are sitting around a square table in such a way that 
four persons sit at the corner side of the table and other four persons sit in the middle side of 
the table. The persons who sit at the corner side are facing away from the center and the 
persons who sit in the middle side are facing towards the center. D sits at the corner side of 
the table. One person sits between D and G. Q sits third to the right of G. Three persons sit 
between Q and E. W sits second to the right of E. W is not an immediate neighbour of D. H sits 
second to the right of K. 

आठव्यक्तिअर्थात D, Q, G, H, K, S, E औरW एक वगथाकथर मेि के चथरो ोंओर इस प्रकथर बैठे हैं जक
चथरव्यक्ति मेि के कोने पर बैठे हैं औरअन्यचथरव्यक्ति मेि के मध्यभथग में बैठे हैं। मेि। कोने की

ओर बैठने वथले व्यक्तियोोंकथ मुिकें द्र कीओर हैऔर बीच में बैठने वथले व्यक्तियोोंकथ मुिकें द्र की

ओर है। D मेि के कोने पर बैठथ है। D और G के बीच एकव्यक्ति बैठथ है। Q, G के दथयें से तीसरे स्र्थन
पर बैठथ है। Q और E के बीच तीनव्यक्ति बैठे हैं।W, E के दथयें से दूसरे स्र्थन पर बैठथ है।W, D कथ
जनकटतम पड़ोसी नही ों है। H, के दथयें से दूसरे स्र्थन पर बैठथ है। क।
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Eight persons i.e. D, Q, G, H, K, S, E and W are sitting around a square table in such a way that 
four persons sit at the corner side of the table and other four persons sit in the middle side of 
the table. The persons who sit at the corner side are facing away from the center and the 
persons who sit in the middle side are facing towards the center. D sits at the corner side of 
the table. One person sits between D and G. Q sits third to the right of G. Three persons sit 
between Q and E. W sits second to the right of E. W is not an immediate neighbour of D. H sits 
second to the right of K. 
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1. Who among the following sits second to the right of S? 
जनम्नजलक्तित में से कौन S के दथयें से दूसरे स्र्थन पर बैठथ है?

(a) Q (b) E (c) D (d) W (e) None of these

2. How many persons sit between D and W when counted 
from the right of D?
. D के दथयें से जगनने पर D और W के मध्य जकतने व्यक्ति बैठे

हैं?

(a) Three (b) Four (c) One (d) Two (e) None of these

3. Who among the following sits second to the left of G? 
जनम्नजलक्तित में से कौन G के बथयें से दूसरे स्र्थन पर बैठथ है?

(a) D (b) K (c) H (d) S (e) None of these 
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4. Who among the following are the immediate neighbours to each other? 
जनम्नजलक्तित में से कौन एक दूसरे के जनकटतम पडोसी हैं?

(a) K, E (b) Q, D (c) G, H (d) W, S (e) None of these 

5. Four of the following five are alike in a certain way and hence form a group. Find 
the one who does not belong to that group? 
जनम्नजलक्तित पथोंच में से चथर एक जनजित तरीके से समथन हैं और इसजलए एक समूह बनथते
हैं। वह िोिें िो उस समूह से सोंबोंजित नही ों है?

(a) E (b) D (c) G (d) K (e) H 
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6. How many numbers are there which are immediately preceded by a vowel? 
ऐसी जकतनी सोंख्यथएाँ हैं जिनके ठीक पहले एकस्वर है?

(a) One (b) None (c) Two (d) Three (e) None of these 

7. If all the numbers are removed from the given series, then which among the following 
element is seventh from the right end? यजद दी गई श्रोंिलथ में से सभी सोंख्यथओों को हटथ जदयथ

िथतथ है, तो जनम्नजलक्तित में से कौन सथ तत्व दथयें छोर से सथतवें स्र्थन पर है?

(a) E (b) O (c) F (d) R (e) None of these 
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9. Which among the following element is fifth to the left of twelfth element from the 
left end?
जनम्नजलक्तित में से कौन सथ तत्व बथएों छोर से बथरहवें तत्व के बथएों से पथोंचवें स्र्थन पर है?

(a) F (b) 8 (c) 9 (d) 1 (e) None of these 

8. If all the consonants are removed from the given series, then which among the 
following element is ninth from the left end? यजद दी गई श्रोंिलथ से सभी व्योंिन हटथ जदए
िथते हैं, तो जनम्नजलक्तित में से कौन सथ तत्व बथएों छोर से नौवें स्र्थन पर है?

(a) 2 (b) O (c) 3 (d) 7 (e) None of these 
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Five persons A, B, C, D and E have different heights. Less than two persons are shorter than D. As many 
persons are taller than D as shorter than C. A is taller than B but shorter than E. B is not the shortest person. 
The height of third tallest person is 86 cm. पथोंच व्यक्ति A, B, C, D और E की ऊों चथई अलग-अलग है। दो से कम

व्यक्ति D से छोटे हैं। जितने व्यक्ति D से लमे्ब हैं उतने ही C से छोटे हैं। A, B से लोंबथ है लेजकन E से छोटथ है। B सबसे
छोटथ व्यक्ति नही ों है। तीसरे सबसे लोंबे व्यक्ति की ऊों चथई 86 सेमी है।

10. If the height of shortest person is 68 cm, then what may be the height of B? 
(a) 69 cm (b) 81 cm (c) 78 cm (d) All the given heights (e) None of these 

11. How many persons are taller than C? 
(a) None (b) One (c) Two (d) Three (e) None of these 

12. Who among the following is just shorter than E? 
(a) None (b) C (c) A (d) D (e) None of these 
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing towards north 
but not necessarily in the same order. B sits second from one of the extreme ends. 
Three persons sit between D and B. Two persons sit between D and A. C sits to the 
immediate left of A. F sits to left of C but is not an immediate neighbour of C. More 
than two persons sit between F and E.

सथतव्यक्ति A, B, C, D, E, F और G पोंक्ति में बैठे हैं और सभी कथ मुि उत्तर कीओर है लेजकन

आवश्यकनही ोंइसी क्रम में हो। B जकसी एकअोंजतम छोर से दूसरे स्र्थन पर बैठथ है। D और B 
के बीच तीनव्यक्ति बैठे हैं। D और A के बीच दो व्यक्ति बैठे हैं। C, A के ठीक बथईोंओर बैठतथ
है। F, C के बथईोंओर बैठतथ है, लेजकन C कथ जनकटतम पड़ोसी नही ों है। F और E के बीच दो से
अजिकव्यक्ति बैठते हैं।
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Seven persons A, B, C, D, E, F and G are sitting in row and all are facing towards north 
but not necessarily in the same order. B sits second from one of the extreme ends. 
Three persons sit between D and B. Two persons sit between D and A. C sits to the 
immediate left of A. F sits to left of C but is not an immediate neighbour of C. More 
than two persons sit between F and E.
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17. How many persons sit to the left of F? 
F के बथयें जकतने व्यक्ति बैठे हैं?

(a) Two (b) None (c) One (d) Three (e) None of these

18. Who among the following sits third to the right of G?
जनम्नजलक्तित में से कौन G के दथयें से तीसरे स्र्थन पर बैठथ है?

(a) E (b) C (c) B (d) F (e) None of these

19. Who among the following persons sit at the extreme ends? 
जनम्नजलक्तित में से कौन अोंजतम छोर पर बैठथ है?

(a) F, A (b) A, E (c) G, E (d) F, E (e) None of these
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20. How many persons sit between D and E? 
D और E के मध्य जकतने व्यक्ति बैठे हैं?

(a) Two (b) Four (c) Three (d) One (e) None of these

21. Who among the following sits to the immediate left of E? 
जनम्नजलक्तित में से कौन E के ठीक बथयें बैठथ है?

(a) G (b) A (c) B (d) D (e) None of these
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Point D is 10m north of point P. Point Y is 14m east of point D. Point Q is 8m north of point Y. Point S 
is 20m west of point Q. Point H is 8m south of point S. जबोंदु D, जबोंदु P के 10 मीटर उत्तर में है। जबोंदु Y, 
जबोंदु D के 14 मीटर पूवा में है। जबोंदु Q, जबोंदु Y के 8 मीटर उत्तर में है। जबोंदु S, जबोंदु Q के 20 मीटर पजिम में है।

जबोंदु H, जबोंदु S के 8 मीटर दजिण में है।

22. What is the shortest distance between point H and point D?
. जबोंदु H और जबोंदु D के मध्य नू्यनतम दूरी जकतनी है?

(a) 8m (b) 6m (c) 4m (d) 10m (e) None of these

23. In which direction is point P with respect to point Q? 
जबोंदु Q के सन्दभा में जबोंदु P जकस जदशथ में है?

(a) South east (b) North west (c) South west (d) North east (e) None 
of these 
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There are certain number of persons sitting in a row facing towards north direction. A sits 
fifth to the right of B. Two persons sit between C and B. D sits fourth to the left of C. Four 
persons sit to the left of D. The number of persons sit between D and B is same as the 
number of persons sit between B and F. F sits at fourth position from one of the extreme 
ends.

एक पोंक्तिमें जनजित सोंख्यथ में व्यक्तिउत्तर जदशथ कीओर उनु्मि होकर बैठे हैं। A, B के दथयें से
पथोंचवें स्र्थन पर बैठथ है। C और B के बीच दोव्यक्ति बैठे हैं। D, C के बथयें से चौरे् स्र्थन पर बैठथ
है। D के बथईोंओर चथरव्यक्ति बैठे हैं। D और B के बीच बैठने वथले व्यक्तियोोंकी सोंख्यथ समथन है

व्यक्ति B और F के बीच में बैठते हैं। F जकसी एकअोंजतम छोर से चौरे् स्र्थन पर बैठतथ है।
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There are certain number of persons sitting in a row facing towards north direction. A sits 
fifth to the right of B. Two persons sit between C and B. D sits fourth to the left of C. Four 
persons sit to the left of D. The number of persons sit between D and B is same as the 
number of persons sit between B and F. F sits at fourth position from one of the extreme 
ends.
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24. How many persons sit between B and D? 
B और D के मध्य जकतने व्यक्ति बैठे हैं?

(a) None (b) Six (c) Five (d) Four (e) None of these

25. How many persons sit in the row? पोंक्ति में जकतने व्यक्ति बैठे हैं?

(a) Twenty (b) Twenty-one (c) Twenty-two (d) Nineteen (e) None of these

26. Who among the following sits second to the right of A?
जनम्नजलक्तित में से कौन A के दथयें से दूसरे स्र्थन पर बैठथ है?

(a) None (b) C (c) D (d) F (e) None of these

27. How many persons sit to the right of B? B के दथयें जकतने व्यक्ति बैठे हैं?

(a) Nine (b) Ten (c) Eight (d) Eleven (e) None of these
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28. How many such pairs of letters are there in the meaningful word ‘MATCHES’ 
each of which has as many letters between them in the word as in the English 
alphabet (From both backward and forward)? 

अर्ापूणा शब्द 'MATCHES' में अिरो ों के ऐसे जकतने युग्म हैं जिनमें से प्रते्यक के बीच

उतने ही अिर हैं जितने जक अोंगे्रिी वणामथलथ में (जपछडे़ औरआगे दोनो ों से)

(a) Two (b) One (c) More than three (d) Three (e) None of these
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29. If we add ‘L’ after first letter in every word, then how many meaningful words will be 
formed?
यजद हम प्रते्यक शब्द में पहले अिर के बथद 'L' िोड़ दें, तो जकतने अर्ापूणा शब्द बनेंगे?

(a) None (b) Three (c) Two (d) One (e) None of these

30. If third letter of each word is replaced by its succeeding letter according to English 
alphabetical order, then in how many words vowels will appear more than once? 
यजद अोंगे्रिी वणामथलथ के क्रम के अनुसथर प्रते्यक शब्द के तीसरे अिर को उसके बथद के अिर
से बदल जदयथ िथए, तो जकतने शब्दोों में स्वर एक से अजिक बथर आएों गे?

(a) Two (b) One (c) None (d) Three (e) None of these
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31. If all the words are arranged according to English alphabetical order from left to right, then which word 
will appear fourth from the left end? यजद सभी शब्दोों को अोंगे्रिी वणामथलथ के क्रम में बथएों से दथएों व्यवक्तस्र्त

जकयथ िथतथ है, तो कौन सथ शब्द बथएों छोर से चौर्थ जदिथई देगथ?

(a) MRU (b) FOX (c) PEA (d) IVY (e) None of these

32. If all the letters are arranged according to English alphabetical order within each word, then in how 
many words vowel will appear at second position? यजद प्रते्यक शब्द में सभी अिरो ों को अोंगे्रिी वणामथलथ के

क्रम में व्यवक्तस्र्त जकयथ िथए, तो जकतने शब्दोों में स्वर दूसरे स्र्थन पर आएगथ?

(a) One (b) None (c) Two (d) Three (e) None of these

33. How many letters are there in English alphabetical series between the first letter of the second 
word from the left end and third letter of the third word from the right end? अोंगे्रिी वणामथलथ श्रोंिलथ में
बथएों छोर से दूसरे शब्द के पहले अिर और दथएों छोर से तीसरे शब्द के तीसरे अिर के बीच जकतने अिर
हैं?

(a) Five (b) Six (c) Seven (d) Four (e) None of these
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34. If in the number ‘35982476’, 1 is added to each even digit and 2 is subtracted from 
each odd digit, then which digits will not appear twice in the number thus obtained?
यजद सोंख्यथ '35982476' में, प्रते्यक सम अोंक में 1 िोड़थ िथतथ है और प्रते्यक जवषम अोंक से 2 
घटथयथ िथतथ है, तो इस प्रकथर प्रथप्त सोंख्यथ में कौन सथ अोंक दो बथर नही ोंआएगथ?

(a) Only 1 (b) Only 9 (c) Both ‘1’ and ‘9’ (d) Only 5
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Six people P, Q, R, S, T and U have events on different dates 7th and 12th of different 
months i.e. January, February and March. D has event on even numbered date in the 
month having 31 days. The number of persons have event before D is same as the 
number of persons have event after A. One person has event between A and C. F has 
event before C. B has event just before E. 

छ: व्यक्ति P, Q, R, S, T और U के पथसअलग-अलग महीनो ोंकी 7 और 12 तथरीिो ोंअर्थात
िनवरी, िरवरीऔर मथचा की अलग-अलग तथरीिें हैं। D के पथस 31 जदनो ों वथले महीने में
सम सोंख्यथ वथली तथरीि पर घटनथ है। D से पहले घटनथ वथले व्यक्तियोोंकी सोंख्यथ, A के बथद
घटनथ वथले व्यक्तियोोंकी सोंख्यथ के समथन है। A और C के बीच एकव्यक्तिकी घटनथ है। F 
की घटनथ C से पहले है। B की घटनथ E से ठीक पहले है।
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Six people P, Q, R, S, T and U have events on different dates 7th and 12th of different 
months i.e. January, February and March. D has event on even numbered date in the 
month having 31 days. The number of persons have event before D is same as the 
number of persons have event after A. One person has event between A and C. F has 
event before C. B has event just before E. 
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35. How many persons have event before B? 
B से पहले जकतने व्यक्तियोों की घटनथ है?

(a) Two (b) None (c) Three (d) One (e) None of these

36. Who among the following has event just after D? 
जनम्नजलक्तित में से जकसके पथस D के ठीक बथद घटनथ है?

(a) C (b) None (c) B (d) F (e) None of these

37. How many persons have event between F and D? 
. F और D के बीच जकतने व्यक्तियोों की घटनथ है?

(a) One (b) Three (c) None (d) Two (e) None of these
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38. E has event on which among the following date? 
E की घटनथ जनम्नजलक्तित में से जकस तथरीि को है?

(a) 12th February (b) 12th March (c) 7th March (d) 7th 
January (e) None of these

39. Four of the following five are alike in a certain way 
and hence form a group. Which is the one that does not 
belong to that group? 
जनम्नजलक्तित पथोंच में से चथर एक जनजित तरीके से समथन हैं

और इसजलए एक समूह बनथते हैं। वह कौन सथ है िो उस
समूह से सोंबोंजित नही ों है?

(a) A, F (b) E, F (c) F, C (d) E, B (e) C, B
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40. Four of the following five are alike in a certain way and hence form a group. 
Which is the one that does not belong to that group? 
जनम्नजलक्तित पथोंच में से चथर एक जनजित तरीके से समथन हैं और इसजलए एक समूह बनथते
हैं। वह कौन सथ है िो उस समूह से सोंबोंजित नही ों है?

(a) RUY (b) SQO (c) OMK (d) FDB (e) YWU
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(a)If only conclusion I follows. 
(b) If only conclusion II follows. 
(c) If either conclusion I or II follows. 
(d) If neither conclusion I nor II follows. 
(e) If both conclusions I and II follow.
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such 
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top 
floor numbered as seven but not necessarily in the same order. There are less than 
three floors above A. Only one person lives between C and A. G lives immediately 
below D. D lives on an even number floor. B lives immediately above A. F lives above E. 
F does not lives on the 5th floor. F does not lives on an even number floor. 

सथत लोग अर्थात। ए, बी, सी, डी, ई, एिऔरिी सथत अलग-अलग मोंजिलो ों पर एक इमथरत में
रहते हैं िैसे जक भूतल की सोंख्यथ 1 है, ऊपरकी मोंजिलकी सोंख्यथ 2 है और इसी तरह शीषा मोंजिल
की सोंख्यथ सथत है, लेजकन िरूरी नही ों जक एक ही क्रम। A के ऊपर तीन से कम मोंजिलें हैं। C और A 
के बीच केवल एकव्यक्ति रहतथ है। G, D के ठीक नीचे रहतथ है। D एकसमसोंख्यथ वथली मोंजिल पर

रहतथ है। B, A के ठीकऊपर रहतथ है। F, E के ऊपर रहतथ है। F, 5वी ोंमोंजिल पर नही ोंरहतथ है। F 
एकसमसोंख्यथ वथली मोंजिल पर नही ोंरहतथ है।
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Seven people viz. A, B, C, D, E, F and G lives in a building on seven different floors such 
as ground floor is numbered 1, the floor just above is numbered 2 and so on till top 
floor numbered as seven but not necessarily in the same order. There are less than 
three floors above A. Only one person lives between C and A. G lives immediately 
below D. D lives on an even number floor. B lives immediately above A. F lives above E. 
F does not lives on the 5th floor. F does not lives on an even number floor. 
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5. Four of the following five belongs to a group find the 
one that does not belongs to that group? 
जनम्नजलक्तित पथोंच में से चथर एक समूह से सोंबोंजित हैं, वह ज्ञथत
कीजिए िो उस समूह से सोंबोंजित नही ों है?

(a) CD (b) EC (c) FB (d) AB (e) GC 

6. Who among the following lives on the top floor?
जनम्नजलक्तित में से कौन सबसे ऊपरी मोंजिल पर रहतथ है?

(a) E (b) B (c) F (d) D (e) None of these

7. Number of persons lives above F is same as the number 
of persons below __ ? F के ऊपर रहने वथले व्यक्तियोों की

सोंख्यथ __ से नीचे के व्यक्तियोों की सोंख्यथ के समथन है?

(a) B (b) D (c) C (d) G (e) None of these
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8. How many floors are there above the floor on 
which G lives?
जिस मोंजिल पर G रहतथ है, उसके ऊपर जकतनी मोंजिलें

हैं?

(a) One (b) Two (c) Three (d) More than Four (e) Four 

9. Who lives immediately below A? 
A के ठीक नीचे कौन रहतथ है?

(a) D (b) E (c) F (d) C (e) None of these
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10. Which of the following element is twelfth to the left of the twentieth element 
from the left end of the given arrangement?
जनम्नजलक्तित में से कौन सथ तत्व दी गई व्यवस्र्थ के बथएों छोर से बीसवें तत्व के बथएों से

बथरहवें स्र्थन पर है?

(a) 6 (b) & (c) M (d) $ (e) None of these 

11. If all the symbols are dropped from the series, which element will be 
fourth to the right of the one which is twelfth from the right end? 
यजद सभी प्रतीको ों को श्रोंिलथ से हटथ जदयथ िथतथ है, तो कौन सथ तत्व दथयें छोर से

बथरहवें के दथयें से चौर्थ होगथ?

(a) 9 (b) O (c) R (d) 7 (e) None of these
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12. How many such numbers are there in the given series which are immediately preceded by a symbol 
and followed by a letter? 
दी गई श्रोंिलथ में ऐसी जकतनी सोंख्यथएों हैं जिनके ठीक पहले एक प्रतीकऔर बथद में एक अिर है?

(a) None (b) One (c) Two (d) Three (e) Four

13. Four of the following five are alike in a certain way and forms a group find the one that does not 
belongs to that group? 
जनम्नजलक्तित पथोंच में से चथर एक जनजित तरीके से एक िैसे हैं और एक समूह बनथते हैं वह ज्ञथत कीजिए िो
उस समूह से सोंबोंजित नही ों है?

(a) 3E% (b) R⧫2 (c) M&$ (d) D9S (e) Y7Z 

14. What should come in place of question mark (?) in the following series based on the above 
arrangement? 34%  N$M  6DL  8Q6  ? 
उपरोिव्यवस्र्थ के आिथर पर जनम्नजलक्तित श्रोंिलथ में प्रश्नवथचक जचन्ह (?) के स्र्थन परक्यथ आनथ चथजहए? 

(a) %OR (b) 7Z% (c) O%R (d) R%O (e) R%7 
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Seven people viz. P, Q, R, S, T, U and V are sitting around a circular table having 
equal distance between them. All of them are facing inside. P sits immediate 
right of Q. Only one person sits between P and S (either from left or right). U 
sits third to the right of S. T is an immediate neighbor of U. R sits second to the 
left of V. 

सथत लोग अर्थात। P, Q, R, S, T, U और V एक वरत्तथकथर मेि के चथरो ोंओर समथन दूरी पर
बैठे हैं। उन सभी कथ मुिअोंदर कीओर है। P, Q के ठीक दथयें बैठथ है। P और S के बीच
केवल एकव्यक्ति बैठथ है (यथ तो बथयें यथ दथयें)। U, S के दथयें से तीसरे स्र्थन पर बैठथ है। T, 
U कथ जनकटतम पडोसी है। R, V के बथयें से दूसरे स्र्थन पर बैठथ है।
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Seven people viz. P, Q, R, S, T, U and V are sitting around a circular table having 
equal distance between them. All of them are facing inside. P sits immediate 
right of Q. Only one person sits between P and S (either from left or right). U 
sits third to the right of S. T is an immediate neighbor of U. R sits second to the 
left of V. 
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15. If all the persons are arranged according to the alphabetical 
order in anticlockwise direction starting from P, then how many 
persons position will remain unchanged (except P)? यजद सभी
व्यक्तियोों को P से प्रथरोंभ करते हए वथमथवता जदशथ में वणथानुक्रम के
अनुसथर व्यवक्तस्र्त जकयथ िथतथ है, तो जकतने व्यक्तियोों की क्तस्र्जत

अपररवजतात रहेगी (P को छोड़कर)?
(a) Three (b) One (c) Two (d) None (e) None of these

16. How many persons sits between Q and U, if counted from 
the left of Q? 
Q के बथयें से जगनने पर Q और U के मध्य जकतने व्यक्ति बैठे हैं?

(a) One (b) Two (c) Three (d) None (e) None of these

17. Who sits second to the right of T? 
T के दथयें से दूसरे स्र्थन पर कौन बैठथ है?

(a) P (b) Q (c) R (d) S (e) None of these
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18. Four of the following five belongs to a group find the one 
that does not belongs to that group? 
जनम्नजलक्तित पथोंच में से चथर एक समूह से सोंबोंजित हैं, वह ज्ञथत
कीजिए िो उस समूह से सोंबोंजित नही ों है?

(a) VQ (b) PV (c) RT (d) SU (e) TQ

19. Who among the following sits second to the left of the 
one who sits 4th to the right of V? 
जनम्नजलक्तित में से कौन V के दथयें से चौरे् स्र्थन पर बैठे व्यक्ति

के बथएों से दूसरे स्र्थन पर बैठथ है?

(a) U (b) T (c) R (d) S (e) None of these
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There are ten persons are sitting in two parallel row such that five persons are sitting in 
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are 
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting 
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person 
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the 
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R. 

दो समथनथोंतर पोंक्ति में दसव्यक्ति इस प्रकथर बैठे हैं जक प्रते्यक पोंक्ति में पथोंच व्यक्ति बैठे हैं। A, B, 
C, D और E पोंक्ति 1 में बैठे हैं और उत्तर कीओर उनु्मि हैं औरM, N, O, P और R पोंक्ति 2 में बैठे
हैं और दजिणकीओर इस प्रकथर बैठे हैं जक पोंक्ति 1 में बैठे व्यक्तियोोंकथ मुि पोंक्ति 2 में बैठे
व्यक्तियोोंकीओर है। A के ठीक दथयें बैठथ है। न तो A और न ही B अोंजतम छोर पर बैठथ है। P और
N के बीच में दो व्यक्ति बैठे हैं। B, P के ठीक बथयें बैठे व्यक्तिकीओर उनु्मि है।M, R के ठीक
दथयें बैठथ है। C, पोंक्ति के अोंत में बैठथ है। D, E के बथयें बैठथ है। D कथ मुि R कीओर नही ों है।
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There are ten persons are sitting in two parallel row such that five persons are sitting in 
each row. A, B, C, D and E are sitting in row 1 and faces north and M, N, O, P and R are 
sitting in row 2 and faces south such that persons sitting in row 1 faces the persons sitting 
row 2. B sits immediate right of A. Neither A nor B sits at the extreme ends. Two person 
sits between P and N. B faces the one who sits on the immediate left of P. M sits on the 
immediate right of R. C sits at the end of the row. D sits on the left of E. D does not face R. 
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23. Four of the following five belongs to a group find the one 
that does not belongs to that group? 
जनम्नजलक्तित पथोंच में से चथर एक समूह से सोंबोंजित हैं, वह ज्ञथत

कीजिए िो उस समूह से सोंबोंजित नही ों है?

(a) O (b) C (c) D (d) P (e) N

24. Who among the following sits second to the left of the 
one who faces B? 
जनम्नजलक्तित में से कौन B की ओर उनु्मि व्यक्ति के बथएों से

दूसरे स्र्थन पर बैठथ है?

(a) R (b) N (c) O (d) M (e) None of these

25. How many persons sits on the left of N? 
N के बथईों ओर जकतने व्यक्ति बैठे हैं?

(a) One (b) Two (c) No one (d) Three (e) None of these
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26. How many persons sits between D and C? 
D और C के मध्य जकतने व्यक्ति बैठे हैं?

(a) One (b) Two (c) Three (d) No One (e) Can’t be 
determined 

27. Who among the following faces A? 
जनम्नजलक्तित में से जकसकथ मुि A की ओर है?

(a) M (b) N (c) O (d) R (e) None of these
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28. IF ‘He will Say’ is coded as ’1 3 9’ and ‘Say To Him’ is coded as ‘3 5 2’ and 
‘He May Do’ is coded as ‘8 7 9’ then what will be the code of ‘will’? 

यजद 'He will Say' को '1 3 9' के रूप में कोजडत जकयथ गयथ है और 'Say To Him' को
'3 5 2' के रूप में कोजडत जकयथ गयथ है और 'He May Do' को '8 7 9' के रूप में

कोड जकयथ गयथ है, तो 'कथ कोडक्यथ होगथ' मिी’?

(a) 3 (b) 1 (c) 9 (d) 8 (e) Can’t be determined
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29. How many pairs of letters are there in the word “MINUTE” each of which have 
as many letters between them in the word as they have between them in the 
English alphabetical series? 
शब्द “MINUTE” में अिरो ों के ऐसे जकतने युग्म हैं, जिनमें से प्रते्यक के बीच उतने ही

अिर हैं जितने अोंगे्रिी वणामथलथ में उनके बीच हैं?

(a) Three (b) One (c) Two (d) More than three (e) None
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There are six persons i.e. A, B, C, D, E and F who all are of different weight. No two 
persons have same weight. Only two persons are lighter than A. B is heavier than A but 
lighter than C and D. F is heavier than E but lighter than D. D is not the heaviest. The 
weight of 2nd heaviest person is 115 kg and the weight of lightest is 56 kg.

छहव्यक्तिअर्थात A, B, C, D, E और F हैं, जिनकथ भथर अलग-अलग है। जकन्ही ोंदो व्यक्तियोोंकथ

भथर समथन नही ों है। केवल दोव्यक्ति A से हले्क हैं। B, A से भथरी है लेजकन C और D से हल्कथ है।

F, E से भथरी है लेजकन D से हल्कथ है। D सबसे भथरी नही ों है। दूसरे सबसे भथरी व्यक्तिकथ विन

115 जकग्रथ हैऔर सबसे हले्कव्यक्तिकथ विन 56 जकग्रथ है।
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30. How many persons are heavier than F? F से जकतने व्यक्ति भथरी हैं?

(a) One (b) Two (c) Three (d) Four (e) None of these

31. If the sum of weight of E and A is 131 and the sum of weight of D and B is 213, then 
what is the sum of weight of A and B? यजद E और A के विन कथ योग 131 है और D और
B के विन कथ योग 213 है, तो A और B के विन कथ योग क्यथ है?

(a) 172 (b) 173 (c) 174 (d) 175 (e) None of these

32. Which among the following person is the 2nd heaviest? जनम्नजलक्तित में से कौन दूसरथ
सबसे भथरी व्यक्ति है?

(a) A (b) B (c) C (d) D (e) None of these

33. Which of the following statement is true? I. Only two persons are heavier than B. II. Sum of 
weight of D and E is 171 Kg. III. Weight of E is 58 Kg. जनम्नजलक्तित में से कौन सथ कर्न सत्य है? I. 
केवल दो व्यक्ति B से भथरी हैं। II। D और E के भथर कथ योग 171 जकग्रथ है। III. ई कथ विन 58 जकलो

है।

(a) Only II (b) Both I and II (c) Both III and II (d) All are True (e) Only III
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Uncertain number of persons are sitting in a linear row facing north. B sits fifth to 
the left of E. Two persons sits between B and D. D sits second position from one of 
the extreme end. Five persons sits between S and E. S is not an immediate neighbor 
of B. As many as persons sits between E and S as between S and C. As many as 
persons sits between D and B as between B and F. C sits third position from the 
extreme end. 

एक रैक्तिक पोंक्तिमें उत्तर कीओर उनु्मिव्यक्तियोोंकी सोंख्यथ अजनजित है। B, E के बथयें से
पथोंचवें स्र्थन पर बैठथ है। B और D के बीच दो व्यक्ति बैठे हैं। D जकसी एकअोंजतम छोर से
दूसरे स्र्थन पर बैठथ है। S और E के बीच पथोंचव्यक्ति बैठे हैं। S, B कथ जनकटतम पड़ोसी नही ों
है। E और S के बीच उतने ही व्यक्ति बैठे हैं जितने S और C के बीच बैठे हैं। D और B के बीच
उतने ही व्यक्ति बैठे हैं जितने B और F के बीच बैठे हैं। C तीसरे स्र्थन पर बैठथ है। चरम छोर
से क्तस्र्जत।
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Uncertain number of persons are sitting in a linear row facing north. B sits fifth to 
the left of E. Two persons sits between B and D. D sits second position from one of 
the extreme end. Five persons sits between S and E. S is not an immediate neighbor 
of B. As many as persons sits between E and S as between S and C. As many as 
persons sits between D and B as between B and F. C sits third position from the 
extreme end. 
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34. How many persons are sitting in the row? 
पोंक्ति में जकतने व्यक्ति बैठे हैं?

(a) 21 (b) 23 (c) 24 (d) 26 (e) Can’t be determined

35. If G sits 2nd to the right of S, then what is the position of G 
from right end? यजद G, S के दथयें से दूसरे स्र्थन पर बैठथ है, तो दथयें

छोर से G कथ स्र्थनक्यथ है?

(a) 7 (b) 9 (c) 8 (d) 6 (e) None of these

36. What is the position of F with respect to E? 
E के सन्दभा में F कथ स्र्थन क्यथ है?

(a) Second to the right (b) Second to the left (c) Third to the left 
(d) Fifth to the Right (e) None of these 
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Point C is 12m west of point A. Point B is 18m north of point A. Point E is 9m south of point D. Point F is 
14m west of point E. Point D is 28m east of point B. F is 13m south of point G. जबोंदु C, जबोंदु A के 12मी पजिम

में है. जबोंदु B, जबोंदु A के 18मी उत्तर में है. जबोंदु E, जबोंदु D के 9मी दजिण में है. जबोंदु F, जबोंदु E के 14मी पजिम में है. 

जबोंदु D, जबोंदु B के 28मी पूवा में है. F, जबोंदु A के 13मी दजिण में है जबोंदु िी.

37. Four of the following five belongs to a group find the 
one that does not belongs to that group? 
(a) CB (b) AD (c) AE (d) BG (e) FB

38. In which direction point A with respect to point G? (a) 
North-west (b) South-east (c) South-west (d) North (e) 
North-east

39. If Point S is 4m south of point G then what is the 
distance between point B and point S? (a) 28m (b) 9m (c) 
8m (d) 14m (e) None of these
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40. Find the odd one out? जवषम चुनें?
(a) PSRQ (b) MONL (c) ADCB (d) VYXW (e) ILKJ
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